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TWEY ST 27K 513 NIWD — As two people and he is Tup

Overview:

The 798572 of (770157) HR¥YT requires 773 7Py, In a regular 7R¥Y, the R
is actively performed by the (0°10n) X1, when he places the object in its
resting place. By 71p>77 there is also the same requirement of AmIm 77°pY. It
differs however from 7RX17 in that by 7p>7 the 7m17 is actively performed
when the 7171 throws the object, because by the force of his throw, the object
will come to rest at the end of its trajectory. This is the difference between
21 9207 Mpna Ty [where the receiver was at the object’s original
destination, from when the thrower threw it until it landed, so there is a 737
P mon], and MW 92°P) Mpan Y [where originally it would have landed
at the end of its trajectory, now however it landed somewhere else (before its
projected landing) because of the second person’s interference, therefore we
cannot consider that it landed by the force of the thrower. Hence the thrower
did not make a 11177 and is therefore Tuo].

The question of 1171 °27 is; what if the thrower himself interfered with the
intended landing of the object, which makes it I8 Q7R3 NMd 1w, two
contradictory forces in one person. Is it comparable to when two people
were involved and therefore he should be mv», or since in fact this involves
only one person he should be 27n.

PRDT WD QTN 12 waT 15997 95 w1795 — The explanation of this statement
is: Just like when two people would do this act, namely one throwing and
the other catching it on the run, the 17 would be that the first person, i.e. the
thrower would be =up

7ma Y9 72 K97 2wn — because he did not perform the act of mma7 at all,
since from his throwing force, the object would have landed in a different place, were it
not for the running catch of the receiver

197997 2w 3192 21 X7 — here too, since he (the p7r) grabbed it away
from its trajectory

127907 2P 7Y nsbb yonn moam XYY — and he did not allow the object to
continue to its intended destination

7M7aTT X7 XY — it is not considered a 7137 performed by the thrower

»a357 mon 13 K97 — for it did not come to rest as a result of the thrower’s
forcez, but rather by negating this force through running and stopping it in a manner

' Moo may be saying that no one thinks that this is actually a case of M@y 0°3w, but rather that the cause
of 7w5 by X"12 *1w, may apply here, albeit in a different manner. By mywyw o°1w there was nm 973 72y &Y,
and here it is p"171 P77 9% M1 XD, See K"12 °w> 7"7 "W who seems to disagree with this.

% In the usual case of 7P, the man is performed at the moment of throwing, not when it lands.
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different from its original trajectory. Therefore the P17 is 7109, because he made no 71717
at the moment of throwing”.

™7 TN 27N> X297 WX — or perhaps we say that since these two forces,
contradictory as they may seem, nevertheless since they come from the same
person, we consider it as if it is like one person doing the entire 79x897.

2957 NI 779PY T92YT 11921 — and since this one person did both the 99y
mam he is 2»n

TIRRWYR 2uwh »T 87 — and we cannot compare this case where one
person did both the 7nIm 77°pY, albeit with two separate and conflicting

forces, to the case where two separate people did a 79X%7, for which they are
7vo. There one person did the 77°py and the other the 7117. Here however one person did
both the amIm 71°pY.

In summation: Md0I1n interprets the jIM1 "7 X°V2 in a case where the P77 ran and
intercepted the object, not allowing it to land at its original destination.

The "1 had an opposite X07°) in the MWD AT TR QTR RNDT IR 2°M 717 K'"12 WD (R
He learns that the P77 caught the object in its original projected place and did not
interfere with its trajectory.

RODIR 073 HR117 119271 — and by the 11''1 the text reads the opposite

2911 9% 27N %13 1w — are these two forces in the same person viewed as if
two people did the 11737 77°pY, then he would be 2%

251 Hapy mpna Ty Poph 9nKRT — as we previously said in the X n3, that if

the receiver stood in his place and caught the object, he is 23%1, since it
landed in its original destination -

1977972 DR K MY KT ;793R 90 1 XoM — and here too if he caught it
himself, and did not grab it away from its trajectory

MAWAR TAYMR K77 2% — he should be 2vn, for his intention was
fulfilled.

2IWDY T AN 2TRD K97 X — or do we say perhaps it is like one person
and he should be 715, the logic being —

YoR2RWY 139797 JnR 1D 77 — for it is comparable as if someone passes an
object from his right hand to his left hand, while standing still

=S MR 7 AT o0 Y N7 — that even though the object traversed '7

nR he is still MWL, because since the person is in one place the object did nor really
move. Here too, since the object landed in his hand and originated from his hand, it
cannot be considered that it really moved.

Summary

? This second force of his, causing the 77371, would be considered the equivalent of a second person
stopping and catching the object

* Catching the object on the run and intercepting it, may be considered as the culmination of the 7n37, and
therefore readjusting, and rejoining with, the original 7p>71, since it is all done by the same person.
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According to mdoIn, the facts are that he ran and grabbed the object away
from its intended destination. The two sides of the X°v2°X are as follows: A)
By 7p>71 the 7nim 77°py are accomplished at the moment of throwing, here
however that original 7r17, was nullified by his grabbing the object away
from its intended destination’, therefore it is like the case of D201 IMPnn Py
7o, B) In this case there was a 7in37, and even though it was altered from its
original destination, nevertheless we cannot compare it to 22°P) ¥pPnn Py,
because there the original 7137 was negated by a second person, therefore it
1S MRXWYWY 0°1w, here however it was he himself who assisted in this new 21p»
1, therefore we cannot apply the M09 of MRXwWyw o%w, for the object rested
totally on account of himself®.

According to the 1", the facts are that he caught the object at its original
destination. The two sides of the X°v2°X are: A) This is similar to where
another person received the object in its original destination and therefore he
is 211 B) since he himself caught the object it is as if the object did not
really move anywhere. It is comparable to a person standing still and passes
an object from one hand to another, even if it traversed 1K '7 he is still 7wy,
since the object never left its original place, in relation to the person.

Thinking it over
1. What would m»01n hold in the case of the 11"2? What would the 1" hold
1n the case of N»OIN?

2. In the case of %2°p1 MIpnn Py, does it mean that the one who caught the
object made a 1im17, or merely that the original 7in17 was negated?

3. Why should 1% 0782 N2 "1w be Mo, since he made the 77°py and later
the 7m17, like every (7012M) ARXIA?

4. Would it make a difference if the thrower initially planned to be =p¥2
290 M pnn?

5. What does the 1" mean when he says "Mnawnn 7°2vn°R X177 2°m5"?

> We may even question whether this act of catching may be considered actively performing a n37 at all.
® Even if the ;137 was altered, it was a self-alteration.



